The expenses of the service departments are charged out on a %
basis as follows :

P P2 P3 S1 S
Service dept S1 20% 40% 30% . — 10%
Service dept Sz 40% 20% 20% 20% —

Prepare a gtatement showing the apportionment of two service
departments expenses to production departments by
Simultaneous equation method. .

8@ fpaasio e 2 puss gops@d Qo Csma gi@ps@d
o ememar. glanmaatian Gongs Ldlie) DemeuHomy :

2 HLSS gimmaer : -
Pi1-¢5.800, P2-5.700, Ps-5.500 2,000
' Greneu glanDaET
S1-¢.234, S2-¢5.300 534
2,534
Geanou glanpaaflen Qaovey LS ipsalsEsILHD F56I5D BT :
P P: P Si S "
Ceaneur gianp S1 26% 40% 30% - 10%
Gsaneu guaop Sz 40% 20% 20% 20% ~
@MpEs@wd  Foaur(H wepld @rarh Csmeu genpaaf e
Geeellamismer 2 pusH simpserseE Lflibgels@n oihémamu

Swinflés.
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Time : Three hours

10.

11.

12.

SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions.

 What do you mean by cost accounting?

SiLé5 e sawsdud uph Belli sifleug wrg ?
What is semi variable cost? -

umd wrU@L CFwe ETETDTD cremen?

Whaf is a cost centre?

SD|L_&& DWILD ETEmDTed GTEhTEr ?

Define cost sheet.

IiL&s6llame é{;ﬁlé;mas cuE I,

What is unit costing?

SVG JILSGS e eTampmed erebrer?

Expand EOQ.:

EOQ eremugetr afiflcundsid 5@5.

What is material?

@@D/Qun@m GTETDIED eTETE ?

Write a short note on Re-order level.

g geanm LLLD uHH G Ap GHILY Tss.

Give any two merits of piece rate system.

gan® oig wpepuler peranadt gGsand @ yeamy.amar S(bs.

Define over time.

sf sy G;buLb cuEnTWII.

Mention the meaning of variable overhead.

wrgubib Gupolsweyser eaeatuger dummener GRS,
Define overheads.

CuopOeamayser cuarwuig.

Maximum : 75 marks
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13.

14.

15.

SECTION B — (5 x 5 = 25 marks)

Answer any FIVE questions.

Discuss the objectives of cost accounting.
SIS efana saurdd e e Crrésmigaer afleurd).

What are the difference between cost accounting and

management accounting?
SLEs o  sansSwugiseh, Cuoorarew  samréduesEh
B G 2 érer Ceupiuriser wireneu ?

Ascertain the cost of sales and profit from the following :

Rs. . 23.

Direct materials 10,000

Direct Labour 4,000
_Direct expenses 500 -

Factory expenses 1,500
Administrative expenses 1,000

} Selling expenses - . 300
Sales 20,000

&0 Qarpssuiu Heter efeuptisaial(Bhg elpLmar L ssellama
wHDID QaTusms sersdHs

€.
Crry. epeLiGumpLger 10,000
Cpimg. anedl 4,000 24.
Crry. CFweayser 500
Qamflherene G&@ma;cﬁ 1,500
fHlireurs Gewaysar 1,000
afpLiemear deweyser 300
- eflhiener 20,000

2 62547/CZ25A

Saraumn efurmsalambg “upsald aupsmar apsaiop s flbseneu”

" arenn penpuld srs@sdr GuGriyaer swrflé&sab.

1.6.2020 Q)(BLIL 200 AOGSET SDE RETMIES (MH.2.50

3.6.2020 Osmet(pged 300 DIVGEET, VG RETMIES 15.3.00
7.6.2020 G&TETApSEH 500 BADGHET, HOE, RETIESE €5.4.00
10.6.2020 aupridliugl 600 6 @&&ET

12.6.2020 Q&TeTpsed 400 JOGEHET, ADG QETNEES, fM5.4.00
18.6.2020 QUPBIEIWLG 500 OGS

24.6.2020 QSMETWFHD 400 JWEGSET, SIS GENMES, @5.5.00
28.6.2020 aulphidluigl 200 @S

Calculate the earnings of markers A and B under straight piece

rate system and Taylors differentions piece rate system from the
following data: : ’

Standard time per unit — 12 minutes

Standard rate per hour — Rs.60

Differentials to be applied 80% and 120%

Ina particular day of 8 hours worker ‘A’ produces

30 units and worker ‘B’ produces 50 units.

Epsngmid sseudsaldmia Laflurert A wHpmd B g HCuwim
Gugid safunismer Goygwirar e @riLy 68sh wHDIL QLiiefer
greury 2 Ly eNfssHaid searsd (e

20 SwdbE grorar Crrb — 12 AL kiser

@@ warll Cprsdpsrear grwrar dfgb — .60 -

2 LGwrdlssiiuL. Geudimgw srpm cN&sh 80% WwHHID 120%.

RO breverssren 8 wantl CHrsHed Laflwumrart ‘A’

BrGleTranmié@ 30 SiewEs@s, Liaflwrert ‘B’

‘E)I'I'QGIT‘ITGBTQMS@ 50 SGS@Hh 2 HLiGH OQesliflarpari.

The company has three production departments and two service

departments and for a period the departmental distribution
summary has the following totals : '

Production departments : Ré.
P:-Rs.800, P-Rs:700, Ps-Rs.500 2,000
Service departments :
S1-Rs.234, S2-Rs.300 534
2,534
7 62547/CZ25A



Haraipd gsassaldopg opuman oiLssh whpn Gamu 16. Calculate the economic order quantity
2 Hlueupenn seamsdHe |
Consumption during the year ~ 90,000 units

eSlLIyhiseT €.
. =l Order cost Rs.10 per order
Cpig. gpad QuigLsdr 1,00,000
. Earning cost 10%
& .

AT 233000, , Price per unit Rs.50.

Crig Gemeyser ) 5,000 Sesar e SjeTemeu SaTddLa|b

GumrGase@ euPmsUILL L &ed ' 2,500 2%@T([H HIST6-90,000 S GSET

‘ &1&G auamsulled) DeILTaenT @p.10 (I UMERTSHS,
Beir 564 ‘ 500 : . .
. FHY S@uiuimanent 10%

Wl eflemd@ser R SElen LSS ¢F.50.

QAgrflpsrere 1,500 17. Calculate the earning of a worker under

DYURESHDS 500 (a) Halsey premium plan

(b) Rowan plan

r Time allowed — 40 hours

Gsmfipsraa 5,000 Time taken — 30 hours

Qs DS : 2,500 Rate per hour — Rs.3.

eflpLearwiraT(bé@ eupmdw FbueTid 1,250 (<) QDMDG& G@anos b wHpd

() Grmeumer L gHen Ly LarflwraTt eu@pLTESMS Hamdhdl[H\s

shlampuigis 1,250 SA@IFHSFULILL &b — 40 e Gy

eu(mLomen cuffl 10,000 _ TS Qararerul L srab — 30 waflCHyD

ApLemanser 1,89,500 e® warfl Cpy eigb - @.3.

18. Calculate labour turnover ratio

From the following particulars, prepare stores ledger showing . Total employees beginning of month 2010
the issue of materials under FIFO method Recriiited employees diiring the month 30
1.6.2020 balances 200 units at Rs.2.50 per unit Ny Left employed, during the month 50
3.6.2020 purchased 300 un1t$ at Rs.3.00 per unit Total employed at the end of month 1990
7.6.2020 purchased 500 units at Rs.4.00 per unit ' Osmreri sphél cdssms sarsdps
10.6.2020 issued 600 units ] , Quorgg Qsmborent wre g, TbLSSH D , 2010
12.6.2020 purchased 400 units as Rs.4.00 per unit : Ceitey GawwiulL Ggmpleorert @bs LrssSe 30
18.6.2020 issued 500 units . efledlus QAgmfleoreart @55 wWrssSHD 50

24.6.2020 purchased 400 units as Rs.5.00 per unit Gwrgs Ggmflemer wrg Qmidlufda 1990

28.6.2020 issued 200 units.”
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The following information is supplied from the costing records of
acompany |

, Rs.
Rent 4,000
Repairs 2,400

Depreciations 1,350 -
Lighting 300 -
Insurance 1,600

Supervision 4,500

Power 2,700
~ Departments
A B C D

Floor space (Sq.ft) 300 220 180 100

No: of workers : 36 - 24 18 12
" Value of plant (Re) 24, 000 18,000 12,000 6,000

Value of stock (Rs.) 15, 000 9, OOO - 6,000 S

Prepare a statement showmg apportlonment of cost of var1ous
departments. : ’

em Ppeaeasder oL &s0 uﬂ@m@&sﬂaﬂ@pg ﬁlmm@m aﬁ]uljrmasm
seflssiiu Hererar . ! . :

C

@.
GUTL_6n& 4,000
L(gsl LMy 2,400
Ggiiomemb 1,350
et siLamd 300
sroS® " 1,500
Cupumireney. 4,500
Seissd 2,700
4 62547/CZ25A

SlampseT :

@ % 8 Fr
BOILILY (5ET Sg9) « 300 220 180 100
: Ggsm(.@éi)_rrd‘rr‘ra;erﬂe‘ur\ eraimanfidana; 3% 24 18 12
Qmmmm wHoy (@) 24,000 18,000 12,000 6,000
srys;@ iy (@) 15, 000 9,000 6,000 -

Q&a)ma;m ey gjmg)ssgﬂml_em ué]rreq Qb oL _cuanawT
- gePlever gwmilésayb. I !

SECTION C — (8 % 10 = 30 marks)
Answer any THREE questions. .
Discuss the step's iﬁvo'l‘ved in installation of cost accountiné. -
SLssNme sarsduma dewdEGhd Qurpg eder Ligflamosamer
updl efeurSlésayb.

Calculate cost of sales and profit from the following

Particulars Rs.
Direct materials 1,00,000
Direct waée's 25,000

'Direct expenses. 5,000
- Wages of foreman 2,500
Electric power - - 500
Lighting:
\’Fa’ctory o L,5OO
Office ‘ ‘500
Rent :
Factory 5,000
Office : ' 2,500
Salarles to salesman- 1,250
‘ Advertlsmg \ ‘ 1,250
Income tax | , 10,000
Sales - 1,89,500
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